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 ��� ����	
��� ���	


A = ey A0 cos(ωt− kx+ φ) �����"�

�#���� $� 
������ ��	
 ����� �� ���� ������ %����������� ����� ��� ��� ���&���' ω� ��� ��	
 ���

����� ������'�
� k ��� ��� (
��� φ �� )�	
���� ex ����������� *�� +�,������ ��������	
�

�������	
�� B ��,�� ��� ���
����	
� ���� E ������ ��	
 ���� ��	
 ��� ����	
����� �����

���������-

B = ez B0 sin(ωt− kx+ φ), E = ey E0 sin(ωt− kx+ φ). �����.�

*�� /��
!����� ',��	
�� ��� 0�%������� �!��� ��	
 ��������� ��� ��� ����	
����� �����

����	
��� ��� ��� ���	


A0 ω = E0 = cB0 �����1�

��������

2�� 3�	
��������!��4������ ,����� 
���'����� ���
����	
� ������!�
�� ��'����� ��� ���4

���	
��� �� $��
������ ��� ������5�����	
� ���	
,�����
����� '� ���	
��������� *�� 6�,�4

���� ����� $��
����� ��� ��� )�
������ me ��� ��� ������ q = −e �� ���
����������4

�	
�� ���� ,��� �� ������ ���� ���	
 ��� ������5�����	
� ������'
����

FL =
∂p

∂t
=

∂

∂t
(γmev) = −e (E+ v ×B), �����7�

���	
������� *���� ��� ��� ������5�����	
�  �%��� p ���	
 ��� ���	
,�����
��� ��� $��
�����

v ��� ��� ������'��
��� γ = (1−v2/c2)−1/2 �������� 0������� ��� 0�%�������5��
!�����4

��� ��� ����	
��� ����1 ,��� ��� 6�,����� ��� $��
����� ���	
 ��� ��!�
��� ���
����	
� ����

���������� 8����� ��� ���	
,�����
��� ��� $��
����� ���!
���� ��� ��	
����	
,�����
��� c

�����	
�� ��� ��� v×B 9��%������ ��	
� ��
� '� 5����	
�!������ ��� ��� $��
���� ��,���

��	
 '��!�'��	
 '�� 8	
,���������	
���� ��� ���
����	
�� ������ ��	
 �� 0�������������	
4

���� ��� ������� ��� ��� �����	
� ����	
�������	
� ������ %����������� ���
�����������	
�

����� ��� ����	
��� ����. �!��� ��	
 ��� 6�,����� ����� ���!����	
 ��
����� $��
����� ���4

�:���	
 ����	
��� ;"�<� *�� �#���� ��� �� 0�������� ����� ���=�	
 ������������ *�� $��
����

������ �	
,���� �� ���
����	
�� ���� ����� ��� ,��� ���	
 ��� 9����
��%������ ��� ��4

������	
�� ������ ������ �� 0�������������	
���� ��� ����� ���	
��������  � �����,�����
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 ��	�� �������	� ������ �	 ��	�� ��	��� ������������	 ����������

	�������	 ����� ���  � !�����"���� �����	
� ��� �������	 �	 "�#�����	
 ��� ��� ������
���� yosc �	� ����
� ���� 
�����$����
 �	 %�#�����	
� ���  � �������
��	 &"���� '���
� ���
�������	 �	 ��� %�"����	� ��	�� ���	( ��� ��	�� ���� )�	����

&"���� *���'+��� ��� �������	 ��	� ����
�	
( ��� ��	�� ���� )�	���� ,�� ��%����� -��

$�������	�
������	��
���� vosc �	� ��� �����	��	
 ��� �������	� yosc �����	 ���� '+� ��	

	����������*��������	 ���� �γ = 1 �	� v ×B = 0� �	��� .����	��	
 *�	 /������	
 ����0

�	� /������	
 ����1 	���

vosc =
eE0

meω
, yosc =

eE0

meω2
�����2�

������	�	� �+� ��	 ������*��������	 ���� ��� ��� !3��	
 '+� ��� �����	��	
 yosc ������
(

�)���	� ��	 '+� vosc ��	� ������� 4�������� ��	'+���	 ���� 5�67�

 � #����	 ��� 8����	��	���)���!������"��� ������� ��� /������	��
���� ��� ��������

	�	 ��	� ��	���	�	
 ��� ��������� ��� !����'������ ,�'+� *����	��� ��	 ��� 	��������

.���������	����

a0 =
eA0

mec
=

eE0

mecω
=̂

vosc
c

, �����9�

������� �� 	����������*��������	 ���� ��� .���)��	�� ��� ��� -�$�������	�
������	��
����

��	�� �������	� �	� ��� !����
������	��
���� �	�������� 50:7� �� ��		 �	��� .����	��	


��� ��$����	
 I = cε0E
2
0/2 ����� ��� ;����	�)	
� λ �	� ���  	��	���)� I ���
���+���

�����	 �	� ����� ��	���$�	 ��� ;���� '+� ��� ��"����������	 4�	���	��	 	���

a0 =

√
I λ2

1.37 · 1018Wcm−2 μm2
��������
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������" a0 < 1 �����������#�������� a0 � 1 ������#������� ��
 a0 � 1 �����������#��������

$�� �%������� &�������� �� #�� 800 nm ������� ������������ #�� I > 1018Wcm−2 ���� ��


�� '��������� ��� ������#�������� (����	��
� ������ )� ���������� ��� �� 
�� �� *������ +

������������� ',�������� ��� 
�� ��,����� a0 � 8 ��
 ���� �� ������#��������� $�������

$�� ������� 	��
� 
�� $�	� �� ����� ���)����� '�������� �� ����� ������ ��������� ��!

������� &���� ����������� �� 
�� -������� ���� ��� �����
�� � ����� )������� ��
 ��������

�� ���)��� ��������� ����������� ��� $�	� �� ��� 
��� #��� ������,�� ��
 �� 
�� -� ��

��� ���� ��������� )� ���������� ��� .������ ���� /�
��� #���������� 	��
��� ��
��

��� 
�� $�	� �� 0��� ����� �����)%���� �������� ��� &����� ��� 
�� '������� ����
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FP (r, t) = − e2

γ 2me c ε0 ω2
∇[I(r, t)] 1
�����2

����������� 	��
�� �3��� 	����� 
�� )�������� 4����� 
�� ������#��������� ������)����� 
��!

������� 5������ ��� γ =
√
1 + a20/2 
�� )�������  ��������� ������#�������� ������)������ ��+�

+��� ��� ���
������������� *���� ��� 
������ ������������ )�� �� ���#�� (��
������ 
��

���������� 
�� ������� ���� �0��� 
�)�� 
��� '��������� �� 4����� #�� ��������� 	�  �!


�0��� ��)����� �	���� #�� ��� ��� �������� 	��
��� -������ ��� 
�� $���� #�� �����

'������� ��� ���� 6���)��� �� '��������� 
�� ������ ne� �� ��� 
�� ���
������������� *����!


����� ��� fp = neFP 
�7������ ������ ����� ���� ���������� 
��� 
�� 
���� 
�� �����

#���������� ����� PL ������������ )�� ���������� ����

fp = neFP = −∇PL ⇒ PL =
ne e

2

2mecε0ω2
I. 1
����
2

80� 8����9����������� ��� ������� #�� ne � 1023 cm−3 �� ���� ���� �� 8���� #�� ����!

�������#�� ����������� ��� ����� ���������� #�� I = 1018Wcm−2 �,����� ��0��� #�� ��	�

1015N/m2 �
�� 1010 bar.
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���� $��
�� �� ;����� 4����0�� �
�� 8����9���� ��� ������ 	��
�� )�� 4�� ��	� 1.5 �6
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���� N
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���	� ����	 ��� �	���� �%�'
������	 ��
 ��� (
	�
��	'	 ������ ���� (�
���	��
 �	�		1
!

��	� ��%��� ��� (
	�
��	'	 ��
�
 2�
����	 ��
 �	�� 1012Wcm−2 �%���	���	� �� ���	 ��%��
��� �����
�� �
����������	

��������

�3

εkinel = N · hν − Eion. 4�����56

7�� ��
�	����� �
����� ��� ��
�����	�
 ����	��
� εkinel ���� �
��� ��� �
���� N 

� ���

�
����� hν ��� �%���%���	�
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�
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γK =
4π

λ

√
ε0mec3

e2
Eion

I
4�����06
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V(x)

x

a)

V(x)

x

h�

h�

h�

b)

�������	
 �����
 ��	������	�������� �� ���������� ��� �� �	��	������	 ��	 ���� 1012Wcm−2

����� ��� ��	������	 ����� ���  ����!����	�	�����!���	 ��	� ��� �� �	��	������	 ��	 ����
1014Wcm−2 ���� ��� "���	���� ��� ����� ����� ��� ���#������� $��� ��� ������ ������
��������% ���� ��� &��#���	�	 ����� ��	 "���	�������� ��		��	 #'		�	 �	� ��� ���� ���
������ (�
 ��	������ �����

�� ��� ����% #�		 ��� (��#�	
 ��� ���#�������	 $����� ��� #�	���	� �	
�	����	 �����	�

)�� ������ ����������	�� "���	���� ����� ���� ��		 �����

V (x) = − Ze2

4πε0
· 1
x
− eEx ������*�

����������	� &� ������� ��		 ��	� 
������ (��������	����#���% ���� ��� &��#���	 �
�+	�

����� ��� "���	������������ ������ ��		��	 #�		� )�� �	��!�����	��	 ��	������	�����	 �+�

���������,����
� ����� �����	 ������ ��	 -���.�� ������	�� /*01� $+� ��� 2���������	


#��!��3�� ����� �	� ��	�	 ����� ��� 4������ ��� #��!��3��� ����� ��������� /�% 561�

2�� ��� 7����	��	
 ��	 �����	��	����	 �����!����	 ���� ��3�����	 �	��	������	 ��	

1020Wcm−2� ��
�		� ��� ��	������	 ��� ���  ����!����	�	�����!���	% ���� ��		 ����
����	 ��� ��� �	����
�	��	 $��	#� ��� �����!����� ����� ��� 4�		����	������	 ��
��'���

&� ������ ���� �	 ��� $���#'�!������8���� ��	 ������� "�����% �	 ��� ��� �	���� ���

4������	��'9� 	���� ���� �� ���	��������
�	 ���� )���� ���,�	 �	��
�������� &��#���	�	

��� ��� "����� ��� ����� �	� ��	�	 �	� ��	������	 ����� ����� :��9��	������	 /;5% ;01�

)�� ��	������	����� ��� :��9��	������	 ��	
� ��	 ��� )����� ����� ��� <������	��
#��� ���

&��#���	�	 �� �	� �!���� 
����� ��� ������	 ����������
��	 "�����	 ��	� ������
� =���� /0;1�
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 �	��
�	
 ��	 �����������	 ����� ���	����������	�	� �� ��� �����������
 ��� ��� !����� "���� ��� �������	�	 ��	 ��� #��	"$%��� �	� &������ �� �	������'�	�
�����	 ��� �������	�	 ��� �	���������	  ��� �	� ������ 
���(���� �� ��� !����)��� ��������
���	� *����	
+ ������ ��� �������	�	 �	� (������������ ������ ��	���	
�	� ��� �������	�	
�,		�	 	�	 ���) �	� ������ ��	���	
�	 �	� ��"��
�	 �	 ����� -.���������/ �����������	�

��� �������	�	 �	 ��� ������ "��(��"�"����	� 0����� ��� �����������  ��� ��� !����� ���	

&��"�����	 %	����+ ����
�	 ���� ���� �������	�	 �	 1�����	
 ��� #��	"$%���� �� ��� 0��	�

���)� ���� ��� !����)��� ��
�������� �	� �������� ����� ���	� *����	
 ��) ��� �������	�	�

����� ����
�	 ���� ��		 ��� ��� #������	��
����+ ��� ��� �� &����� 
���		�	 ����	+ ���)

�	� ������ ��	��	�

��� #������	��
�������������	
 ���� ��	����� �	� ������ ��� 2��	"�2���� ��� )��
�	��

03��������
 �������	�	+ ��� )�(� �	� ������ "��(�������	+ ����	 ����	��� #������	��
����

��	 �	� �������	�	+ ��� �2%��� �	� ������ ��	�����	+ ����	 �%���	� ����� ��)�	������� ��

&����� ���� �	��
�� ��)
�	����	 �	� ������� �,���� #������	��
�����	� ��� 4��5�����

���	 ��� �������	�	 ����"�	 ���� �		������ ��� ������������� �	� )(���	 "�� �����	
 ��	

�������	�	2�����	� ����� �%	
� ��� �	"��� ��� �������	�	 �	� ��� #������	��
���� ���

������� ��	 ��� 6	��	���%� ��� ������	��	 !����� ���

��� �������	�	2���� ���7� ���� ��	������ ��) ��� ����������$%��� �	� ��		 �	 ��	��

�����	)�����	 8%����	
 �	� �� ��	����	���	���	  ��� ��� ��	������	
 �	
�����	 �����	+

��� ���� ��� ��� #������	��
���� vp �	 x�1�����	
 ����
�� ��) ����� *�
 �����	 ��

9.���������/ ��� ��	������	
 �����������	 ��� ���  ��:��	" ωp �	
���
� ;�<=+ >�?� ���

�����������  ��� ��	��� ��� ��	������	
 �%��� ���� �� 	�������������������	  ��� ��� @��)� ���

�������	�	� �����#������	
+ ��� .�	��	���%��
������	
 �	� ��� A�B�����#������	
�	 �	��
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������	 
� E = −N e/ε0 cos(ωp (t− t0)) �
�
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� ��� N ��
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�	� �
� ������
�
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����, ne(x) = n0 exp(x/L) ��� ��
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�
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ωmax = ωmax
p = ω0

√
n0

ncr
#����.%
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 ωmax
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kp = −∇φ = −∇
[
ex/2L

(
t− y

x
sin θ − x

vp

)]
= ωp(x) ·

(
− 1

2L (t− t0) +
1
vp

sin θ
c

)
. #�����%
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a)

t = y sin(1 �) /c
�

t = x/v2

(0,0)

(0,y)

(x,y)

y

x

b)

c)

Position, y / �

Laser-Wellenfront

0,0 0,5 1,0 1,5 2,0 2,50,0
0,25

0,20

0,15

�������	
 ������ 
����������	 �	� ��� ���������	
 ��	 ����
����	� ��� ��� ���	���
 ��!���	�	 �����"��	 #�� $���%�	!� t0 = t1 + t2 ��	 &�� (x, y) �	 ��� 
������"��"��� ���
'	 ��� (���"�)����	���������	
 ����� ��	 ��� ���!����"�� (��� ��� 
����������* ��� ���"�
���  ��!���	�	 ��"����#� �	
���
� ����� ��� 
���� +�	�� ���!���� ��� $���%�	!��* �	 ��	�	
��"� ��� 
���������� 	�� �	���	
 ��� ,��"��� ���������� �kx = 0�� �"�  �	� 
'-�.��������	
#��
�* ���� ���� (��/��	#!��%�	�	��	 �
�0	� Bz )0� 7ω0 < ω > 13ω0� ��� ����
�����
#� �����	 $���%�	!��	 ��
�������� �����	 1234�

��� ."���	
�	
���"���	
 ��� 5���� 6	���� ��"� ���	�"� �	 ��� $���� $� ��	 $���%�	!��	

t = 2L
vp

+ t0 ����"���	��� ��� x�7��%�	�	�� ��� ��!���� �	� ��� 5���� �"���	
� 	��

�	 ��	
�	������ 8�"���	
� ��� y�7��%�	�	�� �	��%��"�� #� ������ $���%�	!� 
�	�� ���

5����	��!��� ��	�� ��!����	��	 +�"������� ��� (��/��	# ωp* ��� ��	 ��"���
�����	��	 ��

5�	!�� θ ����6��� 1��* 324� '	 �������	
 ����� ��� ��� ���  ��!���	�	%�!�� ��� �"����#��

.���"� ��	
�#��"�	��� ��� �	����"������"��	 (��/��	#�	 ωp(x) �����	 �	 ��	 �	��%��"��	��	

9��)�	 ��� 
�����"��"�� ��� ��	�� ���#:
���	
 ��	 2L/vp �
���� +�	��� ��
��������� '	

�������	
 ����� �"� ��� ��� 8������� ��	�� 
'-�.��������	 ��� ��	 .��������	�����	
�	
�	

�(�����6�!� a0 = 0, 07*  �	)�����	!�� θ = 45�* .!���	�6	
� L = λ0/40� ���
�������� ;�	

�����* ���� %�� +����#,!��� ��	 !��#�� ����
��� �
�0	< Bz )0� 7ω0 < ω > 13ω0� ��� ���

��"���
�����	��	 ��������� �����  �	� 
�	����� �	�����"��	
 ���  �#��
�	
�%��#����� ��)

=��	���
� ��� ���	��������	 .��:�� )0��� #� 6�	��"��	  �
��	����	 1>?@4�

&�	� #� ���� �	� ������ #� 
���	* ��	� �� (��
�	��	 ��� "����!��������"��	  �
�	�

�"��)��	 ��� �������� �	
� ��
��
�� ��)
�)0���� ��� �%������ .!���	�6	
� )0� ��	  ��

#��
�	
�%��#��� ���
� �� �����"� ��	 �����"� L � λ/100..λ/10� ����� ��� ��	 ��	������

=�����	� 	����	��
* ����� ��"� 0������%� 
����������	 ��������	 !:		�	� (0� ���
��
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�������	
 �����
 ��������� ����� ��	 ���������	�� ��	� !�� " #�� �	���� ������ �� �����
���	����$� $%��� &�� ��
�	�		��	 ���� ����� !�" #���� '����	 ��� ���� �����	�	 (��)��	&�
�����	�	��	 ��� �	���� ������ ��	 �������	�	�� ���	 ne �	� ����� *��$�	 Δx ��&��
��
!�" #�� ����������	�� +��$&����	���� ���� �� ,�������� � ������� �� ��	� -���.	
���	
 ���
��	&��	�	 ������ ! " /� �������� �� �� �� � ��� �0��� ��� � ��	� ��� ��� -��.	����	

��� ��	�%���	��	 ���������� !��$" #�� �1������	�&����	 ��� 2��	����������	�	 $%���	 &��
	�
�����	 ����� ��� �����	�� ��	� !�" #�� 3% �����&��� ��� 2��	����������	�	 �.	
� ��	
��� �	���	��	�	 /	��	���.� ��� +����� ��� !�" #��� $%��� &� �	
��� ��	 &����� ��	 ����.	��	
&'�� ��	 ��	 ����������	 45-������	� !$" #����� �0��� ��� �� �������� ��	� -���������
��	
 ��� �����	�� ��	�+�	��	 &�� (��
��

���	�� -��������	 ��� ����������	 ��� &����� �� �	�'� ���	
 ��� �����	������� kp &� ��	
�

��� $%� ��� �������	 �		������ ��	�� +����&6����� #�� �0��� ���&� ��� /	��	���.��	 ��	

I � 1015Wcm−2 ��	 �	� ��� 5�'�	���	
��7&��	& �.	
� ��� ��������	 /	��	���.��	

!a0 = 0, 02..0, 2" ��	��� ��	 ��� /	��	���.� ��� ������	��	 +����� ��� #�� �������� ��	$����

'�	��� �.��� �� � ��	$� � ��� �.�&�	8 '�		 ��	 ��� �������� �� (��� �	���	
 ��� 9������	

����� ����� 2��� � ��.
�	 ��	$��� ��� ��� /	��	���.� ���������	�� &� cos θ �	� ����	������

 ��	� ��� �������� �� (��� E ∝ √cos θ� #�� x�:����	�	�� ��� �������� ��	 (����� ��� ��		

Ex = E0 sin θ ∝ sin θ
√
cos θ� #����� ��
��� �� � ��	 ��������� ��	��� ��	 θ � 55�� #����

��	$� �� ��� �.�&�	
 '���� ��� � �/�����������	�	 ����.��
� ;<=>?�

/� 3����	 ��� ��&��
�	
 ��	 ���������	�� ��	 
��� �� &'�� �0����8 ��� ��	�	
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!��� �	
�" �	�� ��� ����� #��$���
�� �%&��� ��
�� � '�����

��� 
���� ���� �&� �� ��	�����" ��� ��� 	�� ��� ��	��	 %��%	 ������ ����	�� ��� (��

��� ���
���� )*+����� %�����,  �����%�� -	� �%����� ,�� �� ��	����� ��������%� �����

.�������� �� '��� 	��� ��� ��� /	���	���������� ,��'�����" ��� ����� &������� �0�1��


� ����	����� ���� 23345� ��� ��������% 
!��� �	
�" �	�� ��� ���
����� ����� �&� �� ����

	�� �	� #������������ 6���� ����	����� �	� ���� ����� �	�����������7���% ���� 78��

���
��� 2��5" ��� �	����� ��1�&�� '���" �	�� ��� ��
����	���
��� ��� ���1������ �� +	1���

,�� ��� 9�������&� 	��&� �� �	� 
!��� �	
�" �	�� ��� ����	�� ��� ����������� ����� �����

&$������	�� ���� -	� �%����� ,�� :���$�	� �%	��� ;" �	� 
� ����� �� 	��,�� 7���% ������

�	�� ��� �	���������� 
!���� 9� <%�1���� ��� �� ����� +����������� ��� <%�1��	�������
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��
 ���� ��� ?�����&�1�� ��� �	@��	�� #��$���
 ����� ��� ���1������������ ���

��� ������������� ��������% ��� ��� 78�����
��� 
!� ��� ��
�� �� ,�� ������1�����%���

��� ����� �%���	�  ��� ���� ��� ����  ��	����� �������&�1�� �� '����� �� ���	��,���������

#	�� 	�
 ������" �� �	�� ������ A� ��� 
!� ��� ��
�� �� ,�� �@���� 1��
�� )*+�������

��,��
� � '����

����� ������	�
��
��� 
����������������
���

��� ?�'� �� ��� ���1������ �� B	���
��� '��� ���	��,�������" ���	�� #�����&�1�� ,��

a0 > 1 �������� '����� ������ ��������� ��3�3�� ��� #�� � ������ '��� ��� ��
�� �� ���

)*+������ ����� ���	��,�������� �0�1�� ���������� ��� ?�������� ��� ���1�������C�	�

��1 ��� �	��� ���'���� ��� 	�	�C����� ��� �&����� �'���� �D ���� 2EF5� ���� ���
��� ����

����� �� ��� ���
���� ���
��� ��� +��'����� ,�� �97�<����	������� ����� �	���  �
�� �"

�	�� �� ��� ��� 8������'��1�� ,�� �����������,�� B	���%����� ��� ����� ��	��	�����&�

��� �D ���� ���" ������1�����%���� 
� ��
�� �� 23E" �>" EF" =�" >" 3GF" �F" �=5� ��� ������

�@%������������ ?�'��� 
!� ��� ��
�� �� ,�� ������1�����%����� 	� ��	��	�����&����

�	��� )*+�����1�����	����������� ��  ����
��� 24F5�

��� ���
	����� ?���������� ��� �	������������
�� ��  ��� �	,�� 	��" �	�� ��� B	�

���%��� 	� ����� +	1������	��	�/���
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��������� ��� ,-.".������ ����� �	� ��� %�	�& / 	 ����� /$��� �$��� ���� ��� �	������� ��	
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������ 1
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� �����	 �	���������� 	�9�����	� %�	�& 3
�

����
������ �����	����� /��� %�	� �
��� ��� 7�������� t′ 
� ��	 �������� Xm(t
′) 	�9�����	��

�� �
�� ��	 ����
����	 ��� :���� 
���	��� ��	 1
������ ��� 7�������� t = t′ +Xm(t
′)/c

����� )����� 
��&; �&�&< )
++& 3
� ����
������ /��� �
� ��� ����
����	 ��	���� ��� 7��������

t′−Xm(t
′)/c �
����	�& =���	 ��	 ������������ ��� ��
�����	���� ��� ��	 ,�9������ �������

�%������ ��� ������ /����	� ��	 �������� 7��
�����
��

Ei(t
′ −Xm(t

′)/c) + Er(t
′ +Xm(t

′)/c) = 0. )�&�&>+
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a)

E ~ sin( t)i �
�

E ~ sin[ (t -2X (t`)/c)]r m�
�

X (t`)m

Oszillierende
Grenzschicht

Beobachtungs-
zeitpunkt:
t=t’+Xm(t`)/c

b) c)

��
�	
�

��
�� �
�

�

�

�������	
 ����
� ���	��� ��� �������������� ����������	��	 ����
���� ��� ��� ��	�����	�� ��� !
������� "��� Ei #��� ��� $��� t′ �	 ��	�� %� ��&!����&�!'��	�������� ��(� �����) �� ����
��� *��������� ��� "��� ��& $�����	 � t = t′ +Xm(t

′)/c ������ ��� ����� ��� +���������	
��� '��	�(,��� ��	� �& ��(� ������	 ��� �������	 "��� ����� -��������	�	 �� ����	� ���
��� �	��������	�� ��� ���& ������� ��� %��������	 ��� '��	����.��	� n) ����	 /	��	��!
�,� &�� ��& ����	�
����� In ∝ ω−8/3 ���,���� $���& #����	 0��&�	����� 
�	������) ���

�12�� ��	� ��� ��� &�3�&��� "��.��	� ω) ��� &�	 ��� ��� 4�(� ���	 �	 ��	�& 
�����&,2�

��#�
��	 ����
�� ��#����	 #5����

���� ��� *�#�
�	
 ������,������ ����� ��� ��	����&��������� 6���� �����&&� #���� ���

���#�	
�	
 ��� +���(,���  �		 ��		 �����Xm = Am cos2 (ω0t
′) ����������	 #����	� $��

�����,���	
 ��� �&������� #��� ��� &�3�&��� '����#�	��
 ��� ����� ��� 7����
����#�	!

��
 ��� ���
���5� �� Ẋm/c = Am ω0/c� 8	��� %��#�	��	
 ��� ���������������	 7���	��!

�� ���� γ =
(
1− (ẋ/c)2

)−1/2
 �		 &�	 ��� �&������� �& 7�������� a0 ������	�	) #�		

&�	 ���,������ 	��� ��� *������	
 γmax �
√
1 + a20 ���#�	��� 9::�;� ��� *�#�
�	
 ���

+���(,���  �		 ��&�� 	,����	
�#���� �����

Xm(t
′) =

c

ω0

a0√
1 + a20

cos2
(
ω0 t

′) �����
�

����������	 #����	� ��� +���(,��� ���#�	
� �	 �����& "��� &�� ��� ��������	 7�������!

.��	��

"5� ��� *�����	�	
 ��� ��(� ������	 "�����  �		 &�	 '������	
 ����� �&������	 �	�

��� *������	
 �#�����	 *��������	
�������	 � �	� 4�(� ���	�������	 � �t = t′ −Xm/c�
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Er(t) = −Ei

(
t− 2Xm

c

)
= E0(t) sin

[
ω0

(
t− 2

Xm(t
′)

c

)]
��	�	��

��������� ������	 ��� ��� ����������� ���� ����� ����� ��� ������� Ei = −E0(t) sin (ω0 t)

����� ����	 !������ ��� E0(t) ��� "���������� ��� #����$�����	 
�� %������� ��� &���'


(��� Xm (t′) ����� ������(������ �� ����� %���
������ ��� )���� ��� ��
��������� ������*

�(����� ��� "���������� E0(t) ��+��(����� ������	 ,� -$������ ������ ���� ����� )�����'

� ������ � �� ��� "�������� + � � ��� ���.����� �$ ������ ���	

,� /�������� �	�	0 ��* �� ����� ��� ��� "������� ��� %��������� ��� ����� #����

��� ����� � �������� ���� �$ ������� + � a0 = 10 ��� ����� "����������� E0(t) =

E0 exp
[
− (t/2T0)

2
]
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�������� ���� ���� ��� ���������* ����� ��� ��� ��$������

1�������� �	�	� ��������� �2��	 "� ��� �� �����* ���� ��� )���� ��� ����������� 3���� ������

����� ��� 4�
���� � �� ���  ������������� &���
(��� � ������� ���� ������ /��	5 �	�	0 ����	


���� � ����������� ����� � ��� ��
��������� ������������ ������ ���(�� ��� ��� ��������'

����� -$������ ������ /��	5 �	�	0 ����	 ,� -$������ ���� ��� �������� !��� ������ ���

#�������.���� �� �����* �� ��� %������� ��� &���
(��� ��� ��� � $$����� ���.���� ��'

�(���	 
�� ,�������(� ��� !��� ������� n � ��� ����� ) ���������� In ∝ (ωn/ω0)
−q ���

����� -����������'"6$ ���� + � q = 8/3 ������ #�����	


�� �$������� ������� ��� ��� +���(������(7�� � ��� !��� ������� ������ �� 4�����

����� ����������� ��������� � �� ��� 4&8'8 ����� + � %��+�* 1 ������ ��� )��� + ��'

��(�� 9:;	 /�������� + � 1�������� �	�	� ���� ����� ����� /���<�� �������* ���� ��� �$�����'

��� "������������ ��� &���
(�������� ������� �� �����������+��������� %������ �a0 � 1�

����� + � ��� �6����� %������� ��� ��
����������� &���
(��� ���(����	 
�� �������������

-$������ ���� ����� ��� /�������� ��� 8��� �� ��� ����� �(��� )���� �������� ���'

���	 "� ����� ���� �����* ���� ��� !��� ������� ��������� ������* ���� ��� # �����'���� �

��� &���
(������������ ��� 8�6���� ��������	 
���� γ'-$���� ��������* ���� ���� ���

1�������������� ��� &���
(��� ��� #������������������� ���(���� �Ẋm � c �	 
�� �$�����'

�� ������� ���� ��� ����� %������� ��� &���
(��� �� ������ =���������� ��������	 /��

��� ����<������� %���������� ������� ���� ��� � ������� ���+������� /��(���������� ��� ���

,�������(� In ��� ��� ���' > ���.���� ωco ��� &���
(�������� �������5

In ∝
(
ωn

ω0

)−8/3
und ωco ∝ ω0 γ

3
max. ��	�	?�
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a) b)

�������	
 �����
 �������������� ����������	��� ����
�� �	 �������������	�	�  �! �	 ��� "������
#����	���������	
 ��� $��%���	�	������  �������&���! ��� ��� 
���������	� '�&�
�	
 ���
(���)*���	���%���	�	 �� ����	� +�� �����	 ,�	��	 %�		�����	�	 ��� ����	 "��-��	�%���
��	�	��	 ��� ��	
�	�����	 .�
	��#�����  Bz #/� ω > 4ω0!0 ��� &*���	� ��	�� %����	 1����
������ ��� ��� '�&�
�	
 ��� (���)*��� �	 ������	
 ��� '���������� �	������	�  �! +��
2����	�����	 &����	 ���������0 &�		 ��� ���	�������� �����  ��������! ���	� ������	

*	����� $� &����	 ��� #��
�	��	 ���������	���������� ���&�	���
 a0 = 100 ��	%�������
$�	#��� θ = 0 �	� ��	� ���#�	#3���
� ������%�	�� ��� ne = 30ncr�

+�� �	��	���*� ��� 2����	�����	 	���� ����� ����	����� ��� ��� "��-��	� �� �	� 
���

��� ��� �����4 "��-��	� �	 ��	�	 �5��	�	������	 ��#��� /���� +�� �������#��� ��� ������

��	
 ����6  �! ������ ��� �����	 ���
����	�	 �����
�	 /�����	� +�� �	��������	 ���%�����	

$�
�	����#��	 &����	 �� $5������	� ��� ���
������&���� ��	
�	 �����	  τ = 600 fs! �	�

��������������������	 �	��	���*��	  a0 � 10! �� 78,��9�,���� ����*��
� :��0 �6;�

+���� ��	 ���������������	 +�������$4�%� &/��� ��	 ��� ��� ��)�%���	 �	 ��	�� 
������

#3���
 ��&�
��	 ����
�� ��5���� ��	� "��-��	� ��	 ω = ω0 (1 + β)/(1 − β) � ω0 4 γ
2

��&����	 :�<0 ==�;� �� ���%���� ��	� >����� 	��� &��� ���/��� ��	��� 2����	����� ��

��%�		�	� +�� ��&�����	
 ��� ������� �� ��%�*��	0 ���� ��� ��)�%�����	�� (���)*��� ������

����� �	� ��� ����	 "��-��	��	 	�� �� ��	�� ���������	 1�����	%� ��������� &����	 :�?;�

$�	� 
�	����� �	��@�� ���
�0 ���� ��� +���� ��� γ����%�� �	� ����� ���� ��� +���� ���

$������	 ����#��-��	��� ���%�����	����� ����� Δtγ � (a0 ω0)
−1 
�
���	 ��� :A;�

+�� �����#� ��������� '�
��	��	
 ��� $������	 ��� ����	 "��-��	�%����	�	��	 %�		

��	 ���� �	 	���������	 ���������	�	 ���������	� �	 �������	
 ����� ��	� ��� $�
���

	���� ��	�� ��	����	���	���	 �������������	 #/� ��	 ��	%������	 $�	#��� ��	�� ,����������
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MILLENIA
Dioden-Laser

Femto
Oszillator

Puls
Picker

Gitter (G)

Strecker

DAZZLER

CRF Ultra
Nd:YAG

CRF Ultra
Nd:YAG

CRF Ultra
Nd:YAG

CRF Ultra
Nd:YAG

CRF Ultra
Nd:YAG

Regan

Ti:Sa

5 Pass Verstärker

4 Pass Verstärker

4 Pass Hauptverstärker

Kompressor

Mazzler
PZPZ

PZ

Cryo

4,8nJ
23fs
76MHz

10Hz

0,5mJ

3.8W cw

30mJ

120mJ

2J

2x2J

2x2J

15-18mJ

600mJ

3J

Vakuum 10 mbar
-6

E~1,8 J

~ 28 fs
f = 10 Hz

d ~ 8 cm
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� ,�����	 '6�7����8 ���������  �!�����	���( �� 9: �*;���� ���*
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��� ;����� ��8 +��� ��� 4����0��!�+���� ��� %�������� >����!������� ��� ��� ������ 	�2>����
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��B ε = Gain·Ee−e+ = 3, 2·3, 65 eV = 12, 775 eV
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�= �� 	� &��'��	��
����
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��� "#$%&����� ��	� ������'����� �� (����	�� �� )��� ��� *+,  ��%�- �� ����	� ���

./�� ��	 ��	 �	���� ������ ��	 $����������	������	
�	 ���
�	 �� � ������� �� #	���� �����

�	 ��� �������� �	� ��� ,�	�)���	��	 ��� �����	�� ��	 0�	��	�

1��	� � ��� ��� ,	��
�� ΔE ��� +����	�2	
�	����� � Δλ ��� �

ΔE

Δλ
= εN

1

Δλ
=

Nc

η

12, 775 eV

0, 0932 nm
=

Nc

η
· 2, 2 · 10−17 J

nm
���
���


�
���	� (������ ���� �������	
� 	� � ��� ��������� ,3���	� ��� ������������� η ���) �%

�� ���
� �	� ��� �	���� '�	 �����������	 *��	�� �	����� ��	� N = Nc/η �����
���� /����	�

��4����� ���� ��� ��������� 5����� ��	�� 6�7��� ��� Δλ = 0, 093 nm ���) ��� ���
� /����	�

8)� ��� #��� �	�	
 �	 ��� 8��9��	� /��� ��� ����		��	 5������	
 c = ν ·λ '��/�	���� 1��

8��9��	������ �: ��! ��� �� � ��� ,	��
�� '�������: 2	���� �� � ����� ��� ��� +����	�2	
�

Δv = c
λ2 Δλ� 1�� ,	��
�� ��� 8��9��	������ � Δν ��� ����� ��� �

ΔE

Δν
=

λ2

c

ΔE

Δλ
= λ2 Nc

η
7, 3 · 10−17 J

m2Hz
= λ2 Nc

η
2, 74 · 10−12 1

nm2

nJ

0, 1 · ν0 ���
�
�


�
���	� ��� ��� �������������3���	� η �	 �������	
 ����� ��� �	� ��� �	���� ��� �����%

������	 *��	�� Nc �	 �������	
 ��
�� ��� �2��� �� � ����� ��� ��������� ,	��
��'�������	
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�
 ��� ��	� ��� ����������	��	 ,	��
��	 ���
�������: ��� �	 ��	��

����/�	��� '�	 Ω � 0, 4msr !)� ��� 5��������������	 
������	 /����	�
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#� $��$���	
�  $���%� &�	��	  ����'  �	� ��� (����	� $��	 ��� ��������� ��	��� � �#��"
��� ����� �������' ������ $����	 �	� ���������� ��� )�� *�����+���� �������� �������	
,��
�	' ��  �-���� .��	�	
�	 ��� ��������� ��	��� � �� ��	 /���%�$�� ��  �� ��,��
�
+����	�

��� ���������	 +���� ��� ��	�� ���$���	 )�0� ��
� �� ��%��� ��%
�	����	� 1��	�"

 ��,��$� ��		 �  �$� ����� �� �$�+��,�-���� ������	
 �� 2�� �� �	� ���	����� �����	"

��	� $��������� �� $�� &�	��	 ������	
 ��	 3�	�	4���
�	
�	 ��	���	' ��� �	 ��	 
� ����	

(������� ��
� ������ +����	 567� 3� �����$�����	 �������������$�  �	� ���	�  �
	�8��	"

��	 $��������� �� $��	 &�	��	 ,� ����		�	 �	� ���  �������� �	��
����������	
 � � %4� ��	

�����$�����	 �������������$� ��� ��	�� ���� ��	 9'� nJ
0,1ν0·0,4msr �		����	� ��	 ��	� � ��"

�� ����� ��
�
 ����� )�� �� ���� ��		 4�����4%� +����	' �	��� ��	 ��� �$�+��,�-����"

 ������	
 ��� ����� �� $��	 �		����	 �� $���,�� 3� ������ $��	 1���$�
�+�$��  ������ ��	

2�� �� ��� :��$�� Aq = 50 ��2 ��� ��	�� �������	�	���������� ��	 Te = 2keV �	 ��"

	�� ;������� ��	 
9 � �� #����$� ��� 
9� (����	� $��	 �ν = 20 ν0� �	 ��	 !���+�	���

Ω = 4 · 10−4 sr ��	� �	��
�� ��	 ΔE/Δν � 5 � 10−25 J/Hz ��� )�� �� ���� � � ���"


���$���� ��� ��� <	���
��	�' ��� �� �=������	� %4� ��� �	 !���+�	��� 
���  �	 +����

�ΔE/Δλ � 10−23 J/Hz�� :4� ��	 �� ����,��
�� 2�� �� � � ��� >�����	 �����	
 �� "

���$��	�' �� ��	 �� �=������	� " +���� ,�����$� 	�$� ������$� " ��	 ��	�� ������ $��	

1���$�
�+�$�� �� 
���	 ��		 � ���� �� $�	��� 
�?���� )� �����$����� 2�� �����$���	 +���

���	�$� �� �$�+��,�-���� ������	
 ���$� ��� ���@�	 �������	�	 ��,��
�' +���� ��� ����"

�$����� A</"#����$� �� 	�����%��B��	��	 C��� �� 2��	$� $��	 �������	
  ������� ���
��

�������	
 ��		 ��� #�����
 �� <	���
��	�� ��	 �$��  ,� �$��  �������$�  $�+�	��	
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��������������� θS θmin θPIC θL θ = π

��� � �� ���� ���� ���� ���� ��
�	� 
 ��� ����
 ���
 ��	� ���� ��
��� 
 �� ���	� ���	 ���� ��
� ��
��� 
 ��� ����	 ���� ��	� 	��
 ��

������� ��	� ��������� ! "�# !���$�� % �#!&�� "&� '#( )����� � " ��#$( &���� ��!�

��#���� *&#"� +�# ��!#� ��� ,- � !�*& .�� "�� )'�.�#($���#� /0�#� "���� "���  &��� "�#
!���$�� ��!���#����� ��!�� "���.�&�#� *&#"� 1�# �����#� %& (#" � ! �& " "&� % �#!&� 
/0# � ��#���&�"�&��� ����#���*& .�� ��!�������� *(#"� � +���& &�� θmin "�# $& &$���
 �
θPIC "�# �&$��&�#��
 � " θL "�# 2���#"&3�#!� �*& .��� 1�$ 4�#!��&�� &�� "&� ���(#��&��� ��
�#*�#�� "� % �#!&�  ��� 5��&��� ! ����� �& !��#�!� �

"�# % �#!&�3�#��&�� !� %� &�� ���( !�#����/�#�&!�� �& � 6�#� 3( EF � 0, 3 J /0# "&� % �#


!&� �� 3�#*� "� � "&� & ��#$( &���� �$!������ *&#"� 70# "&� ���(#'�&( &�� �& 6�#�

3( α � 0, 4 #���&��&���� ��� "&��� �  ��$� �#!��� �&�� "&� ���(#��&��� ��!���#����� 

% �#!&� ��� ������� ��	� )&� �& " �$ ��*� � 5#89� (#" � !� !#89�# ��� "&� ��������&�� !�


$���� � % �#!&� � %& 5#� " �&�#/0# .�  ��& � "��� "�# ��!�� "�# �$&��&�#�� )�#���� !

!#89�# &�� ��� "�# ,- � !�*& .�� "�� )'�.�#($���#� :θS � 22mrad;� +�# +&3�#!� �*& 


.�� *�#"� �&�#  &��� !�$���� � " .�  "������  �# !�������� *�#"� � <$ "� %-�.� ��

�#/���� � �& " & ������� ��	 "&� % �#!&� ��/!��&����� "&� $� ��& � ��#���&�"�&��� +&3�#


!� �*& .�� "�# �$&��&�#�� )�#���� ! �#*�#�� *0#"�� �&�#��& &�� θL "�# +&3�#!� �*& .��

"�� 2���#�� θPIC "&� �&$��&�#�� +&3�#!� � � " θmin = θL/n "�# ���!� !���!#� ��� $& &


$��� +&3�#!� �*& .��� %� ��&!� �&��� "��� "&� % �#!&� .��& �# �& " ��� �#*�#����

+&� � !��� "�# %=�&� � .�  ��/!#� " "�# � ��.�  �� +&3�#!� � "�# )�#���� !  �#

�& � ��������� ! ��& � %& � � !�$���� � ��������� ! �#���� $� � *�  $� /0# "� +&3�#


!� �*& .�� "� �&$��&�#�� 6�#� 3( θPIC � 45mrad �& ������ >� �&��� +&3�#!� �*& .��

*�#"� ���� & �& �$ � "�#� %?'�#&$� � � ��# �� �&��� ��"& !� !� !�$���� @�	A�

+&� %=�&� � *&#" �&�# ��� η = E(θPIC)/EF � !� ($$� � " &�� "�$&� "�#��

ηAR(H18) � 2, 3± 1, 6 · 10−7 , ηBK7(H18) = 4, 7± 3, 3 · 10−7

ηAR(H25) � 1, 3± 0, 9 · 10−7 , ηBK7(H25) = 4, 0± 1, 96 · 10−7

!�!��� � +�# 7����# .($$� "���& "�#�� "&� ���&�#&�#� ! "�# �'�.�#��� %=�&� � "�� )'�.


�#($���#� ����� "�� 5#� "�����&�� &�� �& � �����!� ��# %=�&� � "�# %#���!� ! � " "�#
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!���	
 �����
���������� 
�� ����������� ������������� -����� ��
�� Bz �� #����
��� +�;�7 /�0

������	
����	
�� ����� ��� 
�� ������	
� $��&�	����� 
�� ����������� 8������� 
�� ������	
��

��	
�� ��� ������	
���� 6����  "� 
�� ��	
���&������ ����� ������ ��� �����
�� E��C�	
��

8����� /a0 = 10, τ = 5T0) ��� ����� ��� �� ������� 8�����'��F� 
���������� /7� 82G*

����������0� ����� 
�� ��''�������	
������ &��
�� 
�� ����������� .�������	
�� &�
*
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�� ���������
�� !����� /3�&����� �� D�	
���� 
�� !������'���0 ��� ��
 &�
���
 
��

�� �����
�� !����� /3�&����� �� D�	
���� ������0 ���� ����	
����� ��� #��&������ �� 


�� ������
������ �'������ ��� �� ����'��	
��
�� �'���������� 
�� ��5��������� 6�	
���

�� ��
��� $� ����� ��	
� 
��� 
�� ���������� !��H���� ωn(t) 
�� .�������	
�� n ����
���




������� �	 
�����
��������������� ��� 
��� ��

�������	
 ��
��� ���������������	��	���� �	� �����	�������������  �! "���� ��� "���
�#����	
 ��� #��	�$������	 %�
	�#&��������	�	#� Bz '��� ��� (�'�
�	
 ��� �����������
����� ����		����  �! )� ��*�
��+��
�	 ,���#��
���� '��� ���#����- ���� ��� .�	#���&���
/��	* ��� ���##���#�	 �����	�����	 ��&
��	� ��� "�������01��#�� ��# ��� .��# �	�#��
#�
"�� ���
��#���#�	 "��
����� ��	� 2����#�#� ��	�� �)��,�����#��	- ��� ��� ��	 3��4�����
���� ��# ��	�� "���� $�	 τ = 5T0 �	� ��	�� 5����#���� $�	 a0 = 10 ��	�����# ��& ��	�
�#���� ��������	#� ��� "���#� ne = 20ncr #��1#�

��	��� ��# ��� .��# �	�#��
#� "���� 6�����	
 ��# ���������- �� ��� ����#�	#��� ��� ������

	�����	 ��� ��� ��7�����	 )	#�	��#�# ���##���# '��� �	� ��� ��##���� 3����'�	��
���# ���

8�������� �	 ������ (������ ��	��� $�	 ��� .��# ����	
#� "�� �	�#�	#�	� 5��/��	* ��# ��		

ωn(t) = nω0

(
1 +

v(t)

c

)
� nω0

(
1 +

αt

c

)
⇒ dωn

dt
=

nω0 α

c
.  ��
��!

���� �+		�	 ����#�$��#����� 01��#� ��� ��� (�����	�	
 ��� "������$���������	
 $��	����

�����
# '����	- �� ��� ��##���� 3����'�	��
���# ��� ��������������� $��� ����	�� ��# ���

��� 9���#
����'�	��
���#� ��&
��	
 ��� 0�	��:���	
 ��� 8�������� ����#*�	 ��� ����#��

$��#�����	 �����	�����	 ��	�	 ����#�$�	 �����  ��# $�� ����! ��� ��# ��� �����	�����	

8��	�	
 n *�	���#� )� 3�
�	��#* ��*� �������#�# ��	 ��� ��	 �;0������	�����	 ���

������#�	 )	#�	��#�#�	 ��	�	 	�
�#�$�	 �����	�����	������  ����� �����	�## <�<�� !�

����� ����	
��� 
����	
��	�


"�� *��#����� =	����	
 ��� 5��/��	* ��� ���##���#�	 �����	�����	 '���# ���� ��& ��� ,����

#��� ��� �	� ����# ���� ����	#�������	� ��# ��	�� ,���#����#�� �����	� >� ��� ���'���
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E(t) =
∑
k

Ek f(t− tk) '(�)��*
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� E2
k 	�
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I(ω) = | f̃(ω) |2
∣∣∣∣∣∑

k

Ek e
−iωtk

∣∣∣∣∣
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︸ ︷︷ ︸
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������� �	 
�����
��������������� ��� 
��� ��

�������	
 ����
� ���������������� ����� ��� �����	�����	 �� �	���������	 ������� �� !��

"�#�
�	
 ��� $���������%&��� xp '�		 ����� ��	� $������ �	
�	&���� #����	� �� !��

����������	�� �	
������ �����	� ��� ����'������	 $���� ()��� *� 	��� �����&
�	
 ��� +�	,

��)�'�	
 -�� .����������	
 ���� ��
�� ���������	 ��� �����	�����	� �� !��� ��� +�	,

()���	 ��	�� �������������	 +�-��
�	
 ��� /0.,$���� �k = −m− n..m− n ���&�� ��	

-��&�-���� ��	� .���������	
 ��� 1�	����(��2��	- ωc ��� �����	�����	�

����������� !�� 0�����	
 ���
� ���� ��� ��� ��3�����	 +�	��)�'�	
 �	� k '�		-����	��

��	 *�#����
�	 1�'��� �� "������ k = −m..m �� ��� 4	��	���&����3����� 5�� ��	

�	 �������	
 ����6 �����7 '�		 ��� $������	 ��� $���������%&��� �� "������ ��� 
�89,

��	 4	��	���&� ��� $������ �	
�	����	 #����	 xp(t) = α1 t
2 =̂α1 (k T0)

2� !�� �&	���

�)���	 	���� ���)�'������
� #����	7 �� ��� ������	���� ��� :������	
 �� ��� ��3����

��-��
� #���� ;)� ��� ��	-��	�	 1�'��	 ��� ��� <����#�	��
'��� ��� =���%&��� ���	���

vp(k T ) = 2α1 k T0� !�>	���� ��	 ��� <����#�	��
'��� �	 ��	 �&	���	 ��� $������ ���

vp (mT0) ≡ βm c7 �� '�		 ��	 ������ α1 ��������	� !�� $������	 ��� =���%&��� ��� �����

����� xp(k T0) = βmcT0k
2/(2m) 
�
���	� !� ��� <����#�	��
'��� vp(t) ���� '���	�� ��� ���

��� ?����
����#�	��
'��� c7 '�		 ��	 ����� ��� !���'���	�-�����	'�� 	���

tk = k T0 − 2x(k T0)

c
= T0 ·

(
k − βm

m
k2
)

������ 

������	�	� !�� $�������� βm 
��� ����� ��� <����#�	��
'��� ��� =���%&��� �� ��	� ���

������� �	 +�	�����	 ��� ?����
����#�	��
'��� �	� !���� 
���
	��� 5��� ��� <��	-�	 '�		
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�� ���������� �������

��� �	�����	�� ��� 	�����
��� ������
��� ��������� ����
��� ��� �	���� �	� ���  !��"

��	
 ����� ��
� �	�
� #�������� ��� �������$�������� tk �� ����
�	�� ��%�% ����
����� &�

������	�� ��%�' (�) ����� 
�� ��� �!�������  ��	��	� ��� ����������� *��
$���
��� �+� 	�"

����
������
�� 
���
��� 
������� ���
������������� βm� ����� ���� �����$

��, ���� ���

�	��� �-

�����
� 	
 ��� 
���
��� #����+
�	�� (k = −m..m, mitm = 20) �����������

�	����� .�� ����� 
�� ���������� ���
����������� βm ���� �-

�����
�� /���������	�� ���

*��
$���
���� ��� �!������� 0�����Δω ��

� �	���	�� ��� �$!!�������
����	�� ������ 
��

��� 
�������� ���
����������� ��� ����
�$�����
�� �	� .�� ���������� ���
����������� ��"

����� 
�� �	������
� ��������� ��� *��
$���
��� ������� �������� .$�	����$���� 1+� ���

'2� *��
$���
�� ���� ����� �� ����� ���
����������� �$� βm = 0, 002 ��� �$����� .���
	


�
 3����	
 ��������� (���	� 4���� �� ����5 ��%�' (�))� ����� .$�	����$��� ������ 6� ��
�

*�
$���
��� 	�����
������
� ����� �	� 	�� �7���� �
 #��������� ����
���� �������

��� �-

�����
�� /���������	�� ��� *��
$���
��� ������� �	� ��� �-

�����
��� #��"

��+
�	�� ��� ����
�$�����
��� ������ ������ 1��� ����� �	
 0���!��� ��� ������
���
 #��"

���� ��� 4����� �	� ���� ������ ����
�"/��		
"�������
�� �	� (����� �&8" �
	����$� ��

������	�� ��%�9 (�))� 1+� ��� �
������ #������ �	� ����� �	���������� ����
�����������

��$��
���� 
�� �� �&8" �
	����$��� ���� ��-

�����
�� #����+
�	�� ��� ����
�$�����"


�� (����� ����5 ��%��)� ����� ��-

����� ���� �
 .$���� ���+
���
����� ������, ����



�� ��� 0����
� ��� �	���������� 3-���� 	
 n ���
�����5 k = −m − n..m − n� ���

�	�����	�� ������ /���
����	�� ���� 
�� �
 0���!��� ��� ����������� *��
$���
��� ��

������	�� ��%�' (
) ������ ��� 3���������:	��� ��� *��
$���
��� ωc ��

� 
�� 3	���
�

��� ��-

�����m/n �

�� ������ ��, ���� �	
� ��� /���
����	�� 	
 n ��� �$�����
�$����

������ �

�� ��7;�� ����� �	�
� ��� �$!!���"/���
����	�� ���� ������ #<��� 
�� �������"

��� 
�������� ���
����������� βm �	��
 ���������� ��� /���
����	�� ��� 3���������:	���

��� �+� ���� *��
$���
��� ���  !����	
� ����
� 	�� ������ ��
��� �� ��� �!�������� 0������

���������	� 
����
������

=�
���� 
�� ��� 0��
� �$� ��� ��������� *��
$���
��� �	� ��� ����
��  !����	
, �$

����� ��
� �	������
� �	� /���������	�� 	�� /���
����	�� ��� ��������� *��
$���
��� ��� ��"

����� #<��� ��$��
����� 0�� �	����
������ 
���
���� 
�������� ���
����������� βm ������

��
� �
 ����
���  !����	
 +����$������ !���$���
�� .$�	����$��� ������������ &� �����"

�	�� ��%�% (�) ��� ����!�������� ��� 1������	��	� J(ω) �+� ����� �-

�����
� �������������

�	���	� (m = 20 , n = 0) 
�� βm = 0, 0083 �	 ������ ����� ����� 
�� ���� .$�	����$�
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�������	
 ��
�
� ����������� ���������	�	 �� ������� ��� ��� ��	����	��� ��������� ���
�����	��
 ��� ��� ����������!"��� βm �����	 ���� �� 
������	 #$� ���� $���������� ���
�������	�	 ��� ��� %��&��	� Ω ���������	� ��� '�� %��&��	� ��� ���������	�	 Ω 	����
��� ����
�	��� βm ��� '�� #$� ���	 ��	� ���"������ ����� %����	
 ��� ��	�� ���(�%�	 ���	
��� )����� Δω = 0, 1 · ω0 
�
�"�����

��� ��	�� ��	���� ��� ��	�� %��&��	� *�	 Ω � 32 · ω0� +��
�,(��� ��	 ��� ��-�����

�������� �������	��
 ��� βm. �� ���������� ��	. ���� ��� %��&��	� Ω �����  ���	�� ����

�	� �� �����	 %��&��	�������� ������� ���������	���	��� �������� �����	� /�	� 
�	�����

�	��0�� ��� /1� ��� ���
�. ���� ��� %��&��	� ��� $����������	 ���������	�	 �����

Ω ≈ ω0

4βm
���
���


�
���	 ��� 2
3� 4���	 ��	 $����������	 ��	���  �		 ��	 �������� 	��� ���� )���	�������

��	 ��
��������	� 5	 ��	 #$� ���	 ��� �������	
 ��
�
 ���������� ��	 �������	 ��	 ��	���

��� ��� %��&��	� ω = nΩ ���������	� 
�	������
� 6����	����� 78� ω ∈ {0..Ω , 2Ω..3Ω, ...}
�	� ���������
� 6����	����� 78� ω ∈ {Ω..2Ω , 3Ω..4Ω, ...}� 9���� ����� ��	. ���� ��� %���

&��	������� �������	 ��	 $����������	 ���������	�	 Ω �����
 ��	�����

'�� ������*�������� :���$ ��� 6����	�����	 ��� � ���� ���� �� #$� ����������� ��� +���

��������	
 �	� +���������	
 *�	 ;�	��	 ���� '���������	  �		 ��	 ��� ��	�� ���	����	

/�	��8� �	
 ����� ����	�	. ���� �� 
������	 #$� ����������� ���
�$�"
�� $����������

���������	�	 �� ����	 ��	��
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���$%�� ��� ���

(�� � ��� ����,���$%�� ������� ��� ���$%���� ��-�� �
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0 exp(−t2/τ2)7�
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���� ��� )�����	
� ��
������ ����* ������ ������� +t = 30T0..45T0, ��� ��� ����� -���� ���

.����!"��	
� �
 /�����	
� 0*1*0 ��
������� 	
� ��� 2�������� �������� 
����������	
�

xp ��� ������������ ��
�� ��
�������
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��'�����
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 ��������
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 βm ��� ��� �
��5������ ������ �	� /����
��� 0*1*6 ���7���

��������
* 8
 ������ -��� �	��� ��
 �5����������� ������� 	� ��� �����	� ��� m = 7

	
� n = 0 �������* ��� �������� �������� 3������
���4��� ��� ���
��� ��� ��
 ����
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����� βAR
m � 0, 0028 	
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m � 0, 011*

/	� �����
 :����
 4�

 ��
 ��� 3�����	
� 0*1*0 ��� ����4���
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)�� �$��� *$	��#�� ��	� �	 #���	 ���� +,���	 ���#�-� "��.��#���	��	 #�- ����-#���	 ���

/#���-��0��	� ω0 �� ����	� &�� � ' -( 1,���	������	 ��.�		� �#	 ��� ��������� *$	��#��

�	 ��� �� !"����#��$	 �	� ��� #	#�2������	 %$���� ��	� .$������ ���.��#�� "���.���� ���

��� ��� ��������	�����	 )�-�	� 3��
������#� ����

���#� 
�	#���� �$ �,��� ���� ��� 1��� ������ ��	����,	.�	� 4#-5� .#		 �#	 ��� 67� 8#�!

�$	����� 3����	��	� �# ��� ���� 	$�� �������� 3$� 9#�����	 #������ "�� �#� ��	� 
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�����	� +��0��	������� 3$	 ΔωH27 = 0, 21 ± 0, 05ω0� ��� ��� #	#�2������	 %$����
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�6 �	� :������	
 ��
��( ���,�� -5� βm = 0, 003 ��	� ���.��#�� )����� 3$	

ΔωH27(βm = 0, 003) = 0, 244ω0� 4# ��� 
������	� /�	��	������ ����#��� ���� .#		 �#	

�#3$	 #��
���	� �#�� ��� �#���#�� :������	��
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$

���� �6		�	 ��	����� )�������	 
�� (	��������	� ��	 >"��5����	�����	�����	 ���
�	$

��� 
����	 !�� �������� 
���� ��� ��	����� %���� ��� ����	������� ������	
 ��	 ����

?������	���	 ��� ��	�� >"��5���� �	�������� *=@3, ����� ��		��	 A����������� ��� ���

����	������� ������	
 ��� �������	��������	 ��
���	 
����	 
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������ ��� � !������ 
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�#!
���������� 
��������� ����� $%&' (� ��#

�)�
���� ��� �
����������� ������� ��� ����
����� 	������� ��� �
���������� *����� ��

����� ������� ���+��

�� ,������ ���� 
���������� (���
�� ��� ��������� (
������� ���

(��������� ��� -�������� ������ ��������������� 
� -.*-/#*
����0���� ������ �� -�#

���
��� ��������

� 1���� ���
����� ,���������� ����� ��� 2�
��
��� ��� 31�#2�
������

��� ����� ��
����#-���+����

��� �������� $�&' (�� ����
���� �������� ������ ������#

��� ����� ����� 1���������� �������� ��� 	����������� ��� ��� �
��� ��� 31�#2�
�������

��� 
�� ���� ����� +����
��� 2�
�� ��� ����������� /��
�
��� ���4�+���4���� ��� $&5' 

��� �����	��
�����
��� ��

��� ��� ���������� �
������

��� 	������� ����� /��
�
����6��

� ���������� ��� 7����+��� ��� ����������� 7�
��� ��� ��#

��������� 8�� ,����������� ��� 	������� ����� 9�

� ���� �� -

�������� ��� ����

�������

	����+����

��������+����

g12(τ) =
〈E (r1, t+ τ) E (r2, t)〉√

I(r1) I(r2)
=̂

Imax − Imin

Imax + Imin
:& ; ;<

��������� $=' ��� 9��� g12(τ) ���� �
��� ��� 	���������
� ��� 9�

� �������� ���

2���������r1 ��� r2 ��� ����� 8�������������� ��� τ 
� ��� 	����+����

��������+����

���� ����� ��� ��+���� 	

����� 〈 〉 �
������

� ��� ��
��� �
� ����
��� �����
 4��� ����

2������ �� (>�������� ��� ��� 	���������
� 

� -��������� ��� ���������������+����� ��

����
������ ����� Imax ��� ���������� ��� �
>����� ��� Imin ��� ���������� ��� �������

��� ���������������+��� ��� $?%� ;%' ��� 7��+���� g12(τ) +
�� ����� ��� 9���� �������� 5

��� ; 
������� �)���� �
� 


������� ��� ��� ����
���� 	������� ������� �� ���������

�
� ��� ��
�� 2������� :r1 = r2< ��� ����� ��@������� *
����������������� ��� ����+��� 

��� ��� 
����������� ��������� 	����+����

��������+���� g11(τ) ��� �
�������� τ ��#

����� 
��


���� �� ��� ��� 	����������� τc 

� ��� 8��� ��@������ �� ��� ��� 7��+���� 
�� ���

!�
��� 
���

�
[
g(τ = τc) =

1
2 g(τ = 0)

]
 ��� !�
�� ��� *���������������+��� c ��� ����� ���

	�������
���� 

� lc = c τc ������� -�� ��� 1����������

���� ������ ���� ���� ���+�4�#

���� �������� ��� 	����������� τc ��� ��� ���+��

�� ,
�������� Δν 74� ��� ������

��

7
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�A����� 2�
��� ��� ��� B�

���� ����� Δν · τc = 2 ln 2
π ������� 

������ 8��
�����
�� ���)�
���� ��� ,��������� ��� 	����������� ����� ������� ���
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� �	�� �� 	��� ���

�	�� ��
 ��� ����������  �� 	��

������ ������������� ����� �
� 	�!�"��
�� ���
����

#���	�� $� ����
���� ������� %	��
 �"��� �
� &�������  �� ��� #���	�� 	� ��� �	��

�
�� ������������ "����� ���� 
�� �����	���� %
� ����������  �� 
����!�������
����� ����

!	���� �	�� ����	
� ����� '���"����  �� �����

 ��
��

�� (�
������ �
�� �
� ���!	���� $�� 
����!�������
����� )������ ��� $�
�

���� *��

�"���$  �������

�+ �	� ���� 	�!�"��
� #���	�� ��� ,��	���
��
 �- .��
� 	�������� %��

�����
�����

� &�!�	� 
�� 
� &��

���� /�0�0 �	������

�� %
���� &�!�	� �	�
��� 	�! �
���

%����

����
����+ �
� �
� ����	
����
�� $�� ����
����� ��� �"��

���� *��"���$  ������

��� �
�� 1234� %
�  ���������� 5����� �	��� �
��� %����������  �� d = 60 �� ��� �
���

&���	��  �� D = 100 ��� #���� �
���� 5����� ��$���� 	�! �
��� ���
�� 
� (���!�
� �
��

���	�
����6�����
���� &
�6�����
��+ ����� ������ )
�
��� �
��� 7	�
��  �� r = 1, 22·L·λd
�	�� 8
����
 
�� L �
� %
��	�$ $�
����� 5��� ��� ���
��+ λ �
� 9�

��
"��� ��� 5
�����

��� d ��� %���������� ��� 5����� :�� ����
�!	����� �	�� ��� 
����� ;�

 ��� &
�6�����
��

����� �
�� <	�=���� <
�������� � �
� �
��� ���
��  �� wn = 0, 687 rn 	����"���� �������

%
� <��=� ��� �
�$�
��� ���������� �"���  �� ��� 9�

��
"��� 	� ��� 
�� ���
� !>� ?���

8	����
���� n 	������

%�� &���	�� $�
����� ��� ��
��� &
�6�����
��� �	�� �	�� Δx = D
(
1 + L

l

)
���������

������� %
��� ��$
����� 
"��� �
�� �
� ��� ���	�
���	�$ ���
�
���� %	��
 ���� �	� �	 ��

	��+ �	�� ��
�� ���	�
�� 
� (���� ��	���� ��� �
� 5����� �	�� ��� %
��	�$ l �	��
����� %
�

���
"������� ��� 5
�
�� !>��� $� ��� ���
�
���� ��� ������
�"���	�
�	 ��� &
�6�����
���

	�! ��� ���
��� %�� &���	�� Δx �"��� ���  �� ��� <������
� ��� �
���  �� ��� 9�
�
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������ 9	�
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�
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�"�� ����

������ �� @���
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��� �	� ��������

����� ��� *��"���$��	� ��� 5
���A��

� �����!����$���������� ��������
��

���� &����"�

������� %
�  �

��"��
�� �"��

��� *��"���$ $�
����� ��
��� ���	�
�� Bg12(0) � 1C 
��

�
�� ���	�����$��� !>� �
� )������ ��� $�
�

���� *��"���$�

%���� �
� ���
�
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����� �
��� ;�	���
��
����
����� �
���� ��� %����
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���� �	��

�	� �
� �����!����$�������� $��"�$

�� ������	
 	�!��	
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�� �� �	�� ���

��+ �
��� 5	�!$�
���������
�� $�
����� ��� ��
��� 
����!��
������� ���	��


�� �
�$�!>����� %�� 5	�!$�
���������
�� !>� �
� ��������
��

���� 8	����
����� Δsn 
"���

�
�� 	�� ��� %�	�!�
��� 
� &��

���� /�0�0 B�C ���
�
��� ��� �"��� ������������  �� ���

�D���
 �� %
��	�$ $�
����� ��� ��
��� 5������ De ��� ��� ���������
���
 γn 	�� (>�
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�������� �
�����
 �
� 
��������������
������� ��

�������	
 ��
�
� ������ ��� �����	
 ��� ���������	 ������	�� ��� ��� ����������  !"#
$������	
 ���%� 	��� ��� �����	� l ��� ��� ����������	 ��&&���'����� ����� ��� ���
�	#
�� (����� )����	 ��� *��+��	�,��&�	�	��	 �&�,���� ���
������ �	� ��� -	�������	��	 �.�
������� /����	����� ��������� ��� -	 ��� �����	 0��
�	
����	�	
 ,�		 ��	 ��	 1���#
�����	��������� Δs �)�����	 ��	 �����	 $������	 ����� �����	
 ��� ��&&���'���� �� ��	
2�	,�� β 3�������	� ��� ��� ���&��
�	
 ��� -	�������	�����,����	 ����� ���� ��� ������	�
��������	�

��� ����� 0��
�	
�����	
 ��� ��� !	��������� �����

Δsn = De · sin γn = D sinβ · sin γn = DλnN sinβ ���
�4�


�
���	� /������ ��� β ��� 5������	�)�	,�� ��� ��&&���'���� ��� ���������	
 ��� (�����#

����� �	� N ��� (����������������� ����� 4666 1�	��	7���� ���	��� ,�		 ��� 1�������#

�	��������� ����� 5������	 ��� ��&&���'���� 3���	���� )����	� -� *����8 ���� ��� "����	#

��	
���	�� ��� �����	 1'���� &������� �� ��	 (����������	 3������� �β = 0�8 ��
��� ���� ,��	

!	���������� ��� ��9����� 2��� ��� ��� ��	�� 2�	,�� 3�	 β = 90� �������� �	� �.��� ���

��� ���� 3��)�	����	 ������ �� Δs = 200 · λn� *.� ��� 	����� 0��
�	
����	�	
 ��� ,��	�

����	
�
,��� 3�� 5������	�)�	,�� �� ��)����	�

-� :�����&&�	
�������� ����� ��	 &���������� $���,����	8 ��� 3�	 ��� 2����	��	
� λn
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��� ��� �	�
�� �
	����� ��� ��	��� 	�������	������� ������������� αn ������	� �	���

����	 	�� ��� ������� �
	����� �
�	 �	�	�� ����� kn = λn
αn

������� ��� � �	� �����������

��� �	��� !	�"��� ��� ��� #����������
	�
�� αn$ �� %��� ����������� 	� �	��� �������

�	�
�� γn = arcsin (N λn) ������� 
	��� &�	 ��� ��������� '��(�����	�� ������ �	�� �	�

�	�
�� ����

αn = arctan

(
D cos γn

L− De
2 sin γn

)
)*�+�,-

���������� ./� �	� ������ &�������������� )γn = 0- ����� �	� �	������� 0�����	�����

n �
	����� ��� �	�	�� ��� #��������������
����� �	� ������� 1�� kn = λn
L
D � ./� ���

1��
������� ������ ��� �	� +��� 0�����	���� ���	�� �	�� ���	� �	� ������� 1�� �$,* ���

�	� ���2������ ��� �	�	�� 	�� �	� ��3���� �/� �	� '������� ��� 4��������� ����� ���5

���� ��� ��22���6���� 1�������� ��� ��� ��� ��� 7���
���	8����� Δsn ���	������
�	��

�	� 7�����	��	8����� τn ��	��� 4�������� �	� &���	����� ��� ����	����� '����
�������	���5

���
�	�� 	�� ��� 9	�� ��� !:2��	������� #� ��������� ������	�� 
����� �	� �:2��	���������

&��	�������$ �	� ���
������ ��� ��� !�����	� ��� ��
������ ��� ;��������� 1�����������

��� �����	
����

� ������	���

����� ����	
�	
�	

��� ���� ������	����� #������������� 
���� 	� <����� �	��� '��2����	�� �	� ��� ��:5

=����
5#���	��� �/� >�������2�	
 �� �?7�457�����@���� �	��������� �	���� 7���� �	�����

7����2���� �	� �	��� ����� 1�� �* �� ��� �	��� !����	� 1�� A�� �B ��� ��� ?������ �	� =��5

�� 
����� �	� �	��� �85�:	� =������ )&����
�	�� +A� ��- ��� #�����	����� 1�� 1019Wcm−2

��
���	���� ����	 
����� 	� .�
�� ��:	���� .�������
�� 1�� a0 � 4 ����	���� &�	 ��� ��5

����	������ !:2��	���� 
���� �	� >����54������� ��� ?����� 1��
����� ��� 	� �	��� !	�5

����
	�
�� 1�� �*� �����8��� �	� ��	��	���� CD;54�������� 2��2��	��� 	� �2�
����� <	������

��� ��	8� ���� �	��� �	����� 1�� l = 30, 3 cm ��� ��� ��22������������� 9�� ��������

��� #��������������
����� 
���� 	� �	��� ������� 1�� L = 60, 8 cm �	�� ����
�	����	���	�

1��
�����$ �	� ��� �	��� E�#5�����	������� �	���5E������5=���� )�E=- �	� ������������5

��� EE�5'����� ��������������� 	��� ����	 
	�� %���� �	������ CD;5=����� �������� 	�

�	��� =���2������	��� 	� �	�������� 7	��� ����
������$ 
������ 
	������ ���� ��� =��5

���8�
� !��
������ ���	������ �	��� 
����� ������	�3��� 	� �	��� �	���5E�����5=���� 1��5

1	������� ��� �	� ��� EE�5'����� ������������ �	� ���3� ������ ��� !��
������ �/���
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In(x,Δsn) = I1,n + I2,n + 2
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PMMA
Target

Off-axis
Parabel

XUV
Strahl

Gespaltener
Spiegel

Helium
Gas-Düse

Off-axis
Parabel

Indium Filter

Flugzeitspektrometer MCP

Ionen

Kollimierter Strahl

Ionen

m/Z

Laufzeit
Einstellung

ATLAS
-800nm
-45fs
-600mJ
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����������	 !����	 �	 ��� ���������	 ��� ��	�� �����	�"	
� #�	 L � λ0/20 �����$%���� �	

��� ���������	 � � ��� �� ���#� �%��� ��� ������#� �� $%�	 &����	� $%�	 '(� ��� )���������
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 ��� *�	��	 ���  ���
�	��� �����	�"	
� #���	�!�����$%� +���������	 ���������� ����%��

���$%��  �� w0 = 2, 0 ��, ��	'���!�	��� θ = 45�, ��� ����� τ = 45 fs, *� ��!����	�"	
�

λ = 790 nm, 	������ ����� )���������	���� a0 = 4, 3-

��� �����������	 ��������������	 ��� &����	� $%�	 +Δω/ω � 0, 15- �	� ���$%�	 ����� �	

��!� ��� .�%"��	//����0�  �	
 +Δω/ω � 0, 10-, !"%��	� ��	 ��� 
���$%�	 ��� �� �"	��	

��	� ����	��� 1�	������� ��!����	 !(��� +Δω/ω � 0, 03-� ��� � ��  �
�  �(�/�  �$% ��' ���
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!���� ������� ��� 4�� &����	� $%� 
���  �	, !"%��	� ��� ��	�� .�	 � ��5�3��
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����� ��� 46� &����	� $%� 
���  �	 !����	 ��		��� 1���� 7��8��	/�	 �	� ���$%�	 ���

��� ��'��8��	/ ��� ��� 7� ��9�����������	�	��$%�� �	�  �	� ����� ���$% ��	 $����5 �� 
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���$%�	�

��� /�
��	�� ���
�	��	 0�  �	
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��  �	 /!������	 ��	��� �������������	�	 ��	 �$%��  /�, ��  %���� "$%��$% ������#� ���

 $%� ���/�  � /�� ��/��
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 ������
�	� ����� !����	 ��� ���������	 ��������� �	 �� 

��������	� �	
���  � +����%����$%��  ��� w0 = 2, 0 ��, ��	'���!�	���� θ = 45�, ��� ����

��� τ = 45 fs, *� ��!����	�"	
�� λ = 790 nm, 	������ ����� )���������	����� a0 = 4, 3-�

<���� !����	 '(� �� )����� �� �	��� $%�����$%� �����	�"	
�	 #�	 L = λ/40..λ/10 ���

��	�� 7� ��9�����������	�	��$%�� #�	 ne = 305ncr #��!�	���� ��� �� !����	
 ��� �����

�����	�	 /��
� ����� 	�$%� 	��, ��  ��� =>)���� � %���� "$%��$% ���$% ��� ������#� �� $%�	
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��� �!� τ � 44 ± 20 fs� &
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� � �
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��	�����%� 
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�
� (������ +,'�,-./ ���� %����� ����

������ ����� ��� �
� ��� 
�� �!�
��� 
�!�!���� ��!� 0������� ��� 
�� ��� 
�� ������ 1��

� ��
�� �
���2���� 3!� 0, 9 ± 0, 4 �� �������� �
�
��� �!� 1���� ���2�� � � �� ��� 
��

���������� 4!�2���		������ ���� � � �� 
�� 5��
� ��!� ���� 5� ����2��� 3!� L = λ/20
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�� � �
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�	��������� ��	�����  �� �(���� ���%����	
 ��� ���� 	�� 	��� 	��������
�!
�����
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������	�	 $���� ������ %������ !�� � �������� �	 $��� �����
�&	�
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Gas-Harmonische
p- oder s-polarisiert

Transmissionsgitter

a)

Kalibriertes
Gitter

b)

0. Ordnung

1. Ordnung

Referenz

H19 H41

�������	
 ����
� ����������� ��� ���	�������	�
������� ��� ��� ���  ����	
 ��� !������"#
$%��	% &��� ��� #�� '��
�	
����	�	
 ��� (�"���	% ���&�	��� �	� ��� �� )��	�	
 ���*+
��� *+�������������� !����� ��� +���%�	����	 !�������	��	 
��*+�*��� ��" ����� ,���� ��� ��
�-
��*+. ��� �/%��	% �	 ��� 0� �	� �� )��	�	
 %� �����	� ��� 1�� �/%��	% ��� �	 ������
23�����������*+ ��	���	� �	� �	��+�	
�
 ��	 ��� 4����������	 ��� 5����	��*+�	�
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Al-edge

Kohlenstoff IV,
Übergang: 3S-3P0

Kohlenstoff IV,
Übergang: 3P -2D0
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